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M.Com. (Semester-I) Examination, December 2021 
COMMERCE (MANAGEMENTIACCOUNTING) 

Time Allowed : 3 hours 

1. 

212056 

() 

Note : AIl questions are compulsory 

Paper - III 

(Advanced Accounting) 

e: Azeî qûfefai frs qurcs 50 3 , guS´4'- 5, 

(a) 

(34) HÍcTY EU| 

(c) 

gUg-3/ Section-A 

(H) 34I 201 

(Objective Type Questions) 

realised, is called: 
The debt, which may or may not be 

Doubtfull debt (b) 

Maximum Marks 

RegularlPrivate : 40/50 

Good debt (d) 

212056 

Bad debt 
None of these 

1x5=5 

P.T.0. 



(37) q 3ia 

Accounts of Adjustments are generally prepared: 
() 

(b) 
at the end of the year 
at the begining of the year (c) any day 

(d) None of these 
(ii) yea-I 3yuf fG fafu (37) af 

() afrga 

keeping is -
(a) Scientific 

Incomplete record mechanism ofbook 

(c) Systematic 

(34) 1920 
(H) 1923 

Act implemented -

() $ à 

(a) 1920 
(c) 1923 

(34) f GII 
(4) AtaE GTI 
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(a) quj 
() 34H TA 

In which year the provincial Insolvency 

(b) Incomplete 
(d) None of these 

(a) 1909 
() 1947 

(d) 
(b) 1909 

1947 

2. 

3. 

4. 

Realisation Account is a 

(a) 

(b) 
(c) 
(d) 

Personal Account 

Nominal Account 
Real Account 

None of these 

Tg0g-A / Section-B 

( A� 3tfts wy) 

(Short Answer Type Questions) 

Define Outstanding Expenses. 
37dT/ OR 

Explain the meaning of Income received in advance. 

What is bank reconciliation statement? 
319T/ OR 

What is suspense account? 

Define single entry system. 
379dT| OR 

What do you mean by cost of goods sold? 

2×5=10 

212056 
P.T.0. 



5. 

6. 

7. 

Befine Cum-interest and Ex-interest. 

3dT/OR 

Define secured loan. 

Define Realisation Account? 

3TGT/OR 

Exptain the decision of°Garner v/s Murray'. 

faqru 

qUg-H/ Section-C 

(Long Answer Type Questions) 

f �eT4e IIEY IHIT AI 31 H4, 2018 

23,000 

4,500 

1,500 

3,500 

700 

5x5-25 

212056 

fazq ar 

fash4 

Particulars 

Purchase 

Opening Stock 

Salary 

Wages 

S,400| 

Cash in Hand 

5,600 

4,280 

300 

500 

1,500 

500 

51,280 

From the following Trial Balance of Ramlal 

of Shahpur, prepare Trading and Profit and 

Loss Account for the year ended 3Ist March 

2018 and Balance Sheet as on that date: 

Dr. 

Rs. 

23,000 

4,500 

1,500 

3,500 
700 

35,000 
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200 

5,000 

11,080 

51,280 

Cr. 

Rs. 

PT.0. 



Dr Balance ofCash Book 

Cr Balance of Pass Book 

Cheque deposited but not 
Collected 

Interest allowed by bank but 
not entered in the cash book 

Bank charges not entered 
in the cash book 

Cheque drawn but not 

4. 

presented for payment 
3TdT/OR 

2. qHH a 318{U| 
3. qHTH a qf 

? 3,250 
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R 3,670 

800 

What do you understand by Rectification oferrors? 
Briefly describe the procedure ofrectifying errors. 

40 

20 

7 1,200 

80,000 

8,000 

18,000 

1,08,000 

Calculate Profit / Loss on the basis of following 

informations : 

1. Opening Capital 

2. Current year drawings 

3. Additions to capital during the year 

4. Closing Capital 

fafy qufy fTsI 

31dT/ OR 

80,000 

8,000 

18,000 

1,08,000 

Explain the procedure of calculating loss on stock 

under a fire policy. 

212056 

10. 100 aIt 50, 5 % HaI afuEH 

105 yfa GÍUg Á À 30 349d 2019 4 fa|1 

faR 2019 hÌ 34 25, 5% HAII GuGH 106 YÍd 

Hfd 

yfa q 31 gIs 3r 31 fei d}I H37 

Mohan purchased 50, 5% Govt. Bonds of Rs. 100 

each cum-int. At Rs. 105 per bond on 30April 2019. 

He sold 25, 5% govt. Bonds (@106 per bond on I 

sept 2019. Interest on these bonds is payble on 3 1 

July and 31 January each year. Pass the necessary 

Journal enteries in the books of Mohan. 
P.T.0. 



1. 

What is Voyage account ? What items are usually 

recorded in the debit and credit side of Voyage 
account ? 

I1. A 3r B 54 À HACR n 3 :2 34491G IY 

31 41 2019 

3TdT /OR 

JTG1 31 Hd 2019 1 g 4a fAH I : 

A 90,000 

B 80,000 
fafay tK 

10 

ufT 

A3T B a1 gA4 A 

1,70,000 faf 

60,000 R*# 

2,50,000 

20,000 fafayt1R 

212056 

70,000 

50,000 

22,000 

1,03,000 

S,000 

2,50,000 

2. 

3 

A and B are partners in a firm and sharing profit as 

3:2. They decided to dissolve their firm. On 31 

March, 2019 their Balance sheet was as follows : 

Balance sheet ofA and B (as on 31 March 2019) 

AssetS Liabilities Amt.(?) 

A 90,000 

B 80,000 

11 

Bills Payble 

Sundry Creditors60,000Stock 

1 

Machinery 

1,70,000 Investment 

250000 

Cash 

Amt.(?) 

70,000 

20,000 Sundry Debtors1,03,000 

50,000 

212056 

22,000 

5,000 

The Assets and liabilities were disposed off as 

follows: 

250000 

Machinery were given to creditors in full 

settlement of their account and stock were 

given to bills payble in full settlement. 

P.T.O. 



2. 

3. 

12 

Investment were took over by B at the book 

value. Sundry debtos of book value 50,000 
took over by A at 1 0% less remaining debtors 

realised 51,000. 

Realisation Expenses amount Rs. 2,000. 
3TcT/OR 

What are the objectives of firm 

amalgamation? 

212056 
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